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BLKE  JEHE

PO [id]
R TR~k E At Bl FEAA X 1-1 B X 2-1 Bl 5 B X 3-2 B 5 S 4-1 B 5 A X 51 B 5 M X 6-1
BRI EREHFE] EFHIX [ERERHE] BHK ERERHE|] BEHN ERERHE|] EHN [EEEHE] B FERERE
(B #)
AEEAK R TFL BF3Z 0ff ¢ 50 m 210.0 40.000 30.000 50.000 25.000 65.000
FKGERL K AR T F L EFZ A+ ¢ 75 m 260.0 75.000 110.000 75.000
AEEAK R TFL 7V—vzuk ¢ 50 m 29.3 3.800 3.900 10.000 6.200 5.400
AE R AR YT F L 7V—vIvh 75 m 32.2 12.600 9.100 10.500
EFY4ry b ¢ 50 1# 11.0 2.0 2.0 2.0 3.0 2.0
BFY/ryb 675 1 5.0 2.0 3.0
EFfi sz~ R ¢ 50X 90° 1 3.0 1.0 2.0
EFj 3 ~ R ¢ 50X 45° 1 1.0 1.0
ERlj5z~ N $50X22-1/2° & 1.0 1.0
EFj 3 ~ R ¢ 75X 45° 1 7.0 3.0 2.0 2.0
BRlj% 5 —X 075X ¢ 75 1 1.0 1.0
EFRZLF 2—4 75X ¢ 50 1 5.0 1.0 1.0 1.0 2.0
EFL7 2—4 ¢ 75X ¢ 50 1 1.0 1.0
EF¥ ¥y~ ¢ 50 i 2.0 2.0
BF¥% vy~ o 75 1A 1.0 1.0
KIE S8R5 FH BRI T ¢ 175 i 8.0 1.0 1.0 3.0 1.0 2.0
KIEHRFERATR(3DKN) ¢ 75 * 8.0 1.0 1.0 3.0 1.0 2.0
PEFRL MY 7 by — AL )5 ¢ 50 (BREERIHT) H 5.0 1.0 1.0 1.0 2.0
PEFRL A}y 7 by — AL )57 & 75 (BHEERHT) Bae 1.0 1.0
TS EITTAEKIER 1 ¢ 100X ¢ T5(EFEE ) i 1.0 1.0
MR EITFEKIERZ 1 ¢ 75X ¢ THUEE ) &l 7.0 1.0 3.0 1.0 2.0
AAFER L P — (HIVP X HPPE) ¢ 75 18 1.0 1.0
AHTER L3 — (DCIP X HPPE) o 75 {8 1.0 1.0
ANk 8 5 81 5(DCIP ) ¢ 75 pee 1.0 1.0
SKX-L(TAE) ¢ 50X 90° 1 4.0 1.0 1.0 1.0 1.0
SKX-S(/7vh) VXPUISO) 50X ¢ 20 & 4.0 1.0 1.0 1.0 1.0
HIVP ¢ 20 m 5.0 1.2 1.3 1.3 1.2
HI-L(= Vi) $ 20X90° i 8.0 2.0 2.0 2.0 2.0
(B EHE)

) bk



BLKE  JEHE

PO [id]
EN TR~k E At Bl B EAI R 1-1 B X 2-1 Bl 5 B X 3-2 Bl B AN 4-1 Bl B AN 5-1 B 5 M X 6-1
BHRIX ILRERFE| EFN |[CREHE] BRI [EREFE] BHIK [EREHER| BHX |EREEHER] FHX EREHE
BEERF RV~ TN BTN m 543.5 44.8 34.9 151.7 119.8 119.1 73.2
HEBIFRE ) 2 H=600J A 14.0 2.0 2.0 4.0 4.0 2.0
IR ) 2 H=1000 # 1.0 1.0
(FFH5#)
FYVFL A% T ¢ 50 (EHAEFH#SR)) | m 242.9 44.1 34.2 61.0 31.6 72.0
FY=FVE AR T o 75 (AEHAEFES) | m 300.4 0.6 0.6 90.6 119.8 87.5 1.3
BYLFL ) 50mm | 14.0 2.0 2.0 5.0 1.0 4.0
NS VZEanIli 75mm A 9.0 3.0 1.0 5.0
FI=FV BT o 50 (FEEAEFES) 1A | A 54.0 8.0 6.0 16.0 5.0 19.0
FYFL AT o 50 (FEEAEFES)2A [ 1 11.0 2.0 2.0 2.0 3.0 2.0
FI=FV BT o 5 (FEEAEFES) 1A | A 74.0 1.0 1.0 22.0 26.0 22.0 2.0
FYFL AT o 5 (EHEAEFES)2A [ 0 5.0 2.0 3.0
A=AV L (K 2FV 45 675 | 2.0 2.0
A=AV T T8 ¢ 75 A 2.0 2.0
Ah=VilkTF L CReRRF ) ® 75 i 8.0 1.0 1.0 3.0 1.0 2.0
ARWr7KELE T ¢ 100X ¢ 75 AT 1.0 1.0
RIS T d75X ¢ 75 (250 7.0 1.0 3.0 1.0 2.0
WK I8 5 -G iE T 675 50 1.0 1.0
fEYFrkE T ¢ 50 (250 5.0 1.0 1.0 1.0 2.0
FED)PRRE T 675 AT 1.0 1.0
BERE U BESRAE 1 75mm 5] 1.0 1.0
e BEE 4 : 75mm i 1.0 1.0
HEEIFpR"y ) AR L H=600/1 i 14.0 2.0 2.0 4.0 4.0 2.0
LU ) AR 1 T H=1000fH L 1.0 1.0
RYLFVYR) =7 W 5B ST o 75mmll T ##E7—7| m 7.7 1.1 1.1 1.9 0.3 2.5 0.8
R RSk R i T FLy¥$— ¢ 75 i 2.0 2.0
ARy —h L m 543.5 44.8 34.9 151.7 119.8 119.1 73.2
FI=FV BT ¢ 50 m 12.0 3.0 3.0 3.0 3.0
FYLFL BT ¢ 20 i 4.0 1.0 1.0 1.0 1.0
W R ¢ 20 m 5.0 1.2 1.3 1.3 1.2

) bk



BLKE  JEHE

. xt £ [if]
AR TEAR~THE E 4t B SR 1-1 B A& BRI 2-1 B FEHN X 3-2 B BRI 4-1 B BN 5-1 Bic & FEANX16-1
B ERAEFFE] EHIX [ERERHE| BEHK EEEHE] BEHX BEIN ERERHE] BRI |EEEHE
e s 620 12.0 3.0 3.0 3.0 3.0
TSH#F T $ 20 16.0 4.0 4.0 4.0 4.0
= 7Y —hIAL Bl FLA%30mm, PESL=150mm | f@7r 4.0 1.0 1.0 1.0 1.0
R L
(+1)
+ T Wil EE WY H=0.6 ¢ 50| m 245.6 44.7 34.9 = 61.7 WL' s 33.3 71.0
2 »
-T2 il EE @Y H=0.6 ¢ 75| m 288.2 86.2 | ——— 114.8] 87.2
+ T3 HiE HIE Y H=1.0 ¢ 75| m 5.0 perryTpo— l . pare
AWK A T W 1 HE HLE KBTS ¢ 100X ¢ 75 H=0.6 | BT 1.0 1.0 lEi_| i
WA THE2 Tt 3 R 6 75X 6 75 H-0.6| (T 7.0 1.0 3.0 — 1.0 2.0
AWK+ T Wrmm 3 iE HOE RS EEIFR ¢ 75 H=1.0| fEFT 1.0

) bk



EEEARY ) BERRT ]

RS RH ELE M 1-1 AR
1) KEEABER)=FV ERRIER (¢ 50)
OE# QRBE (WRIERIZET E) ¢ 50
~Hik A | R (m) JER~E ~Hik R | fER (m)
HPPE(EFZZ I A4) | ¢ 50X5.00 8.0 40.000 EFH &L T 2—1 75X ¢ 50 0.340 1.0 0.340
i 40.000
it 0.340
oOuE
mEZS S (m)
HPPE (77— ) ¢ 50 3.400 @RPE BREBEIICH LT5%, BARERICH LL2W) ¢ 50
IARYZ0 1=5.000m 0.400 FER~TE ~HE o | R (m)
i 3.800 PEHL A Y7 ho— A L) fp ¢ 50 (BHEEEH) 0.660 1.0 0.660
B 0.660
®+T
JEF (m)
T TWmL L=44.140+0.630+1.060—1.500+0.400(HIVP ¢ 20) 44.7
/NER 44.7
R - T 1 |17 GERRF EL72vY)  L=L15m 1.0
NEE 1.0
it 44.7
2) AREEKHAFIIFVBEMRBRIER (6 75)
O EE @ RBE (FRIERICF L) ¢ 75
BES A | HER (m) TR~k BES B | MER (m)
HPPE(EF52 FIf4) | ¢ 75%5.00 KT gEekeE I S ik 5 ¢ 75 0.630 1.0 0.630
i 7t 0.630
@ %
sF2 JEF (m) @ BEE (REITICH L3258, BARERICE ELRW) ¢ 75
HPPE (7°V—vx ) ¢ 75 TEAR ik ~HE Bim | R (m)
KIAY7-D 1.=5.000m YINRATEITFERIEZ 0 | ¢ 100X ¢ To@EEEEE ) | 0.400 1.0 0.400
i 7t 0.400
® +T
JE: (m)
I L 6 50125
/NF
SERARFHR L WERAEF AL IR
(D) ABIER: ¢ 50 O+@+® 44,140 m = 44.1 m
(D ABIER: ¢ 75 DO +@ +@" 0.630 m = 0.6 m
Q) KI=FL A -7 s |@+@” 1.060 m = 1.1 m
(3) ¥Ry —P T DO+@+3+D +@ +@" 44.770 m = 44.8 m

JERAEFHFR)1-1



EEEARY ) BERRT ]

SRR  BLE M 2-1 B #i
1) KEEABER)=FV ERRIER (¢ 50)
OE# QRBE (WRIERIZET E) ¢ 50
~Hk A | R (m) JER~E ~Hik R | fER (m)
HPPE(EFZZ I A4) | ¢ 50X5.00 6.0 30.000 EFH &L T 2—1 75X ¢ 50 0.340 1.0 0.340
i 30.000
it 0.340
oOuE
mEZS S (m)
HPPE (7 —vzv}) ¢ 50 3.500 @OREBE RELICH L7558, BARERITEH LLARW) ¢ 75
IARYZ0 1=5.000m 0.400 FER~TE RE:S o | R (m)
i 3.900 PEHL A Y7 ho— A L) fp ¢ 50 (BHEEEH) 0.660 1.0 0.660
B 0.660
®+T
JEF (m)
T TWmL L=34.240+0.630+1.060—1.500+0.450(HIVP ¢ 20) 34.9
NEE 34.9
RIA -T2 |17 GERRF EL72vY)  L=L15m 1.0
NEE 1.0
it 34.9
1) KEEARR AV BEARIEE (¢ 75)
O EE @ RBE (FRIERICF L) ¢ 75
BES A | HER (m) TR~k BES B | fER (m)
HPPE(EF52 FIf4) | ¢ 75%5.00 KT gEekeE I S ik 5 ¢ 75 0.630 1.0 0.630
i 7t 0.630
@ %
sF2 JEF (m) @ BEE (REITICH L3258, BARERICE ELRW) ¢ 75
HPPE (7°V—vx ) ¢ 75 TEAR ik ~HE Bim | R (m)
KIAY7-D 1.=5.000m VIMREITFEERKEZ O | ¢ 75X ¢ T53EEE H) 0.400 1.0 0.400
i 7t 0.400
® +T
JE: (m)
I L 6 50125
/NF
SERARFHR L WERAEF AL IR
(D) ABIER: ¢ 50 O+@+® 34.240 m = 34.2 m
(D ABIER: ¢ 75 DO +@ +@" 0.630 m = 0.6 m
Q) KI=FL A -7 s |@+@” 1.060 m = 1.1 m
(3) HER A Ry~ T D+@+O+D +@ +®)~ 34.870 m = 34.9 m

IERAEFHFR)2-1



EEEARY ) BERRT ]

X : BB AR 3-2

1) AKEEKRAR)FA EARREE (6 50)

CHE#R

OE#
~Hk At | L (m)
HPPE(EFZZ I A4) | ¢ 50X5.00 10.0 50.000
7 50.000

oOuE
[REE JEF (m)
HPPE (7= N) ¢ 50 1.000
HIAYIZY 1=5.000m 3.300
1.800
3.500
0.400
#| 10.000

QREWE (R ERIZE E) ¢ 50

JER~E ~Hik o | R (m)
EFfj5~_ R ¢ 50X90° 0.300 1.0 0.300
EFMj5z~_ R ¢ 50X 45° 0.210 1.0 0.210
EFMj5z~_ R ¢ 50X22+1/2° 0.170 1.0 0.170
EFF 2L 72— 675X ¢ 50 0.340 1.0 0.340
B 1.020
@ BEE (FRIERIZENL) ¢ 75
FER~TE BRS Hom | fER (m)
KT gk I Sk T 675 0.630 1.0 0.630
B 0.630
@RPE REBELICH LT25%, BARERICE LL2W) ¢ 50
TR~k BES Bom | fER (m)
PEfRL [+ 7 he— AL G5 ¢ 50 (PHIEFHT) 0.660 1.0 0.660
i 0.660
@ BEE (REIICH L2558, BARERICE ELRW) ¢ 75
TR~k BES om | fER (m)
VIMRFEITFEERKEZ O | ¢ 75X ¢ T5(0EEE H) 0.400 1.0 0.400
i 0.400
®+T
JE: (m)
WL L=61.650+1.060-1.50+0.500(HIVP ¢ 20) 61.7
/NER 61.7
AR T 2 |LiPF GERRF ELAVY)  L=15m L0
/e 1.0
i 61.7
SERARFHR L JER ST AL e
(D ABIER: ¢ 50 O+@+B3 61.02 m = 61.0 m
(ABIER: ¢ 75 @ 0.630 m = 0.6 m
(2) KVxFV v R)—7 e i @ 0.660 m = 0.7 m
(2) KVxFV v R)—7 e 7 @ 0.400 m = 0.4 m
(3) ¥Ry —P T D+@+B+®3)” 61.65 m = 61.7 m

JERAEFHF)3-1



EEART T EERRE

SRR  BLE M 3-2 D&
1) KEEA R )AL EFRRIER (¢ 75)
OE# QRBE (MRIERIZHT L) ¢ 75
~Hik A | R (m) 2N RS ~Hik Mo | MEE (m)
HPPE(EFZZ ) | ¢ 75X5.00 15.0 75.000 EFfisz~U R ¢ 75X 45° 0.370 3.0 1.110
i 75.000 KIE#h8kiE i AT 675 0.630 2.0 1.260
it 2.370
oOuE
mEZS S (m)
HPPE (7 —vzv}) ¢ 75 1.000 @RPE BREBEIICH L7255, BARERICH LL2W) ¢ 75
IARYZ0 1=5.000m 2.700 FER~TE ~HE B | R (m)
4,900 VIMRSRITFEKEZ A | ¢ 76X ¢ THOREEM) | 0.400 2.0 0.800
4.000 # 0.800
i 12.600
®+T
JEF (m)
T2 1.=89.970-0.800-3.000 86.2
NEE 86.2
RIA -T2 |2f@iFT GERRF EL72vY)  L=L15m 2.0
/NGR 2.0
it 86.2
L RAEFHRAL JERAERE AL e
(1) i RR A & O+@+® 89.970 m = 90.0 m
) KV xFV A =7 W8 @ 0.800 m = 0.8 m
(3) MR Ry —P T D+@+B3 89.970 m = 90.0 m

JERAEFHF)3-1



EEART T EERRE

XX : BLE AR 4-1

1) KEEKRAR)FA ERRER (¢ 75)

B

OE#
~Hk At | L (m)
HPPE (EF3Z [ £+) ¢ 75X5.0 22.0 110.000
#| 110.000

oOuE
[REE S (m)
HPPE (7= N) ¢ 75 4.000
HIAYIZY 1=5.000m 0.600
4.500
it 9.100

QEWE (FRERIZE E) ¢ 75

TER~HE <tk R | fER (m)
ERMjSZ~_ R ¢ 75X 45° 0.370 2.0 0.740
it 0.740
@EWE BRBIICH LT2%, BMRERICEH ELARW) ¢ 75
TEIR~TE <tk i | fER (m)
Rk S )F(DCIPA) 675 0.330 1.0 0.330
s 0.330
®xT
JEF (m)
T TErE2 SEI LY 114.8
NEE 114.8
EECLE i X LD 5.0
/it 5.0
Rk b THiH3 | 18R GER 7 LUV ) 1.0
1.0
7t 119.8
SERAEFHRIL FERSEF A LR
(D) AR R O+@+B3 119.84 m = 119.8 m
(2) KVxFV v R)—7 e i @ 0.330 m = 0.3 m
(3) MR Ry —P T DO+@+3® 119.84 m = 119.8 m

JERAEFHF)A-1



EEART T EERRE

XX - BLE REMX] 5-1

1) AKEEKRAR)FA EARREE (6 50)

PR

QREWE (R ERIZE E) ¢ 50

OE#
~Hk At | L (m)
HPPE(EFZZ I A4) | ¢ 50X5.00 5.0 25.000
7 25.000

oOuE
[REE S (m)
HPPE (7= N) ¢ 50 4.900
HIAYIZY 1=5.000m 1.300
it 6.200

AR TE <tk R | fER (m)
EFLF 22— 75X ¢ 50 0.360 1.0 0.360
7t 0.360
@EWE FBIICH LT2%, BMRERICEH LA ¢50
TR TR sHE i | fER (m)
PESFL A+ 7 b — A L8 Fp ¢ 50 (BHEEEH) 0.660 2.0 1.320
7t 1.320
®+T
FEE (m)
+ T 1.=31.560+1.320+0.400(HIVP ¢ 20) 33.3
/NEE 33.3
7t 33.3
JERAEFHRIL JERAEGT WA TR
(D) AT R O+@+B3 31.560 m = 31.6 m
2) KVxFvyR)—7 e i @ 1.320 m = 1.3 m
(3) HLFRAF Ry —P T O+@ 31.560 m = 31.6 m

JERAEFHF)5-1



EEEARY ) BERRT ]

XX - BLE REMX] 5-1

GE&#r

1) KEEKRAR)FA ERRER (¢ 75)

QEWE (FRERIZE E) ¢ 75

OE#
~Hk At | L (m)
HPPE(EFZZ ) | ¢ 75X5.00 15.0 75.000
i 75.000

oOuE
[REE S (m)
HPPE (7= N) ¢ 75 4.800
HIAYIZY 1=5.000m 2.100
0.500
3.100
i 10.500

JER~TE ~Hik Mo | MEE (m)
ERjzz~ R ¢ 75X 45° 0.370 2.0 0.740
EFlij%F—X dT5X ¢ 75 0.280 1.0 0.280
EF 57— X (53 U541 dT5X ¢ 75 0.120 1.0 0.120
EFFyy 675 0.220 1.0 0.220
KT gkekiE I ST 675 0.630 1.0 0.630
B 1.990
@OREBE RELICH L7558, BARERITEH LLARW) ¢ 75
FER~TE BES Mo | MERE (m)
JIMRATEITTFEKIEZ 0 | ¢ 75X ¢ THOREE M) 0.400 1.0 0.400
PEfRL [ 7 he — AL G5 ¢ 75 (BHIEEHT) 0.780 1.0 0.780
it 1.180
®+T
JEF (m)
T2 L=87.490+1.180-1.50 87.2
/NER 87.2
Rk -+ T2 17 GER R EL7VY)  L=1.5m 1.0
NEE 1.0
i 87.2
L RAEFHRAL JESR ST AL e
(D) AT R O+@+® 87.490 m = 87.5 m
) KV xF VA =7 W 5 @ 1.180 m = 1.2 m
(3) MR Ry —h T D+@+B3 87.490 m = 87.5 m

JERAEFHF)5-1



EEEARY ) BERRT ]

KSR B X 6-1 He TR
1) KEEABER)=FV ERRIER (¢ 50)
OE# QRBE (WRIERIZET E) ¢ 50
~Hk A | R (m) JER~E ~Hik o | R (m)
HPPE(EFZ 1f4) | ¢ 50%5.00 13.0 65.000 EFjSz~_U R ¢ 50X90° 0.300 2.0 0.600
i 65.000 EFF 2L 72— 675X ¢ 50 0.340 2.0 0.680
EFyy ¢ 50 0.150 2.0 0.300
it 1.580
oOuE
mEZS S (m)
HPPE (7= N) ¢ 50 2.500
¥IARY720 1=5.000m 0.500 @OREBE RELICH L7558, BARERITEH LLARW) ¢ 75
1.200 FER~TE ~HE Hom | R (m)
1.200
i 5.400
®+T
JEF (m)
T TWmIL L=71.980+1.260+0.800~1.500 X 2 71.0
/NER 71.0
RIA -T2 |17 GERRF EL72vY)  L=L15m 2.0
NEE 2.0
i 71.0
1) KEEARR YAV BEARIEE (¢ 75)
O EE @ RBE (FRIERICF L) ¢ 75
BES A | HER (m) TR~k BES B | fER (m)
HPPE(EFZ HA4) | ¢ 75X5.00 KIZgkskiE ] S ik 5 b 75 0.630 2.0 1.260
i 7t 1.260
@ %
sF2 JEF (m) @ BEE (REITICH L3258, BARERICE ELRW) ¢ 75
HPPE (7°V—vx ) ¢ 75 TEAR~Hik ~HE Boim | R (m)
KIAY7-D 1.=5.000m V7N EITFEERKEZ O | ¢ 75X ¢ T53EEE H) 0.400 2.0 0.800
i 7t 0.800
® +T
JER: (m)
I L ¢ 50125
INE
SERARFHR L WERAEF AL IR
(D ABRIER: ¢ 50 O+@+® 71.980 m = 72.0 m
(D ABIER: ¢ 75 DO +@ +@" 1.260 m = 1.3 m
(2) KV =FVoR)—7 W @+@ 0.800 m = 0.8 m
(3) ¥Ry —P T O+@+3+D " +@ +@" 73.240 m = 73.2 m

JERAEFHF)6-1



BoKE : T THEHK

PO i]
AR TEAR~TE E aEtEl L &l T THrm1 T THrm2 + T3 AWK LT 1 | AWK TWriE 2 | AErok 4 T 3
m¥Y | 245.6(m) | m¥4Y  288.2(m) | m%4Y  5.0(m) |[@AT4Y| 1O |@AT4Y| 7.0( A |#HT4Y| 1.0(EHT)
SRR L ASHR 15emBL m | 1,130.0] 1132.700| 2.000| 491.200[ 2.000| 576.400| 2.000| 10.000| 6.340 6.340| 6.280|  43.960| 4.800 4.800
EERBUEL -FUAT | ZEE10emEL T | m2 340.0  337.620| 0.600| 147.360| 0.600| 172.920| 0.600 3.000| 1.644 1.644| 1.608| 11.256| 1.440 1.440
gl m3 260.0]  255.279| 0.438| 107.573| 0.450| 129.690( 0.750 3.750| 1.611 1.611| 1.562| 10.934| 1.721 1.721
(ogisaiye R (FREA) | m3 92.0 92.108 0.159|  39.050| 0.168| 48.418| 0.168 0.840| 0.510 0.510| 0.470 3.290
FHILR A+ m3 130.0f  126.840[ 0.216| 53.050| 0.216| 62.251| 0.516 2.580| 0.921 0.921] 0.921 6.447| 1.591 1.591
HeAE T M-30 t=1lecm |m2 341.0]  340.980| 0.600| 147.360| 0.600| 172.920 0.600 3.000| 1.644 1.644 1.608| 11.256] 4.800 4.800
ASEREET (A )) t=3cm &% |m2 341.0]  340.980| 0.600| 147.360| 0.600| 172.920 0.600 3.000| 1.644 1.644 1.608| 11.256| 4.800 4.800
ASTEALPR m3 14.0 13.509| 0.024 5.894| 0.024 6.917| 0.024 0.120| 0.066 0.066] 0.064 0.448| 0.064 0.064
A e + m3 110.0f  114.350| 0.198|  48.629| 0.210|  60.522| 0.177 0.885| 0.588 0.588]| 0.539 3.773] -0.047|  —0.047
71y 2 —{5R sy t 2.0 1.551 V=0.023X0.04 X 1132.5(fi2 7K) +0.066(#57K)=1.108m3 (G=1.551t)
(XE1R) m¥Y | 212.3(m) |FGH#E A TFCHI fEAT4Y | 1LOCEFT) [#HT4Y | 5.0(F&HT)
AREERREUEL AT | &ZEE10emPL T | m2 140.0 140.280| 0.600| 127.380 1.644 1.644 1.608| 11.256
ASHRALER m3 4.0 4.206| 0.018 3.821 0.049 0.049] 0.048 0.336
g2l m3 1.0 1.402 0.006 1.274 0.016 0.016] 0.016 0.112
FAE e + m3 1.0 1.402 0.006 1.274 0.016 0.016] 0.016 0.112
R E i A 721 m2 140.0f  140.280 0.600| 127.380 1.644 1.644 1.608| 11.256
ASEEEET.(ANF7) t=4cm m2 140.0|  140.280| 0.600| 127.380 1.644 1.644 1.608| 11.256

B



BAMRWEZRD - T W om T ff AR~k BN i " K 1m0 ik
+ T 1 AR T ASHift 15emELF [ m 2.000
TiE BE WY H=0.6 ¢50 |FEBIUEL-BEAT | &%/Z10cmELT | m2 ]0.600X1.000 0.600
R AR m3 0.600%0.730 0.438
- — - R (R (B3EA) | m3 0.600%0.270-0.003 0.159
— b Asm _ B R FeA m3 [0.600x0.360 0.216
i ET; AREpY oL BT M-30 t=1lcm | m2 0.600
i R B | ASEEETOO) | t=3em (RH% | m2 0.600
i _ - E i ASERALIR m3 0.600 % 0.04 0.024
o) 58k A b m3 |4 — 425,/ 0.9 0.198
) (R IR)
SHEERBUEL - BHA L | &E/F10ecmL T | m2 |0.600<1.000 0.600
ASHRALER m3 |0.600%0.03 0.018
BB A@E (g intll m3 [0.600%0.01 0.006
e Ay | ®etam i m3 (4] 0.006
s IE 720 m2 0.600
ASEIZET. (A1) t=4cm m2 0.600
¢ ¢ SO £5:0.060 2% 3.14--40.003
BRARMEL S - T W omE T f& TEIR T LA L -V RS
+ T WrmE2 R R DI L ASHRC 15emEAF [ m 2.000
T B WY H=0.6 ¢75 |WEMIBUEL-BUAT | &3/Z10cmllF | m2 10.600X1.000 0.600
R m3 [0.600%0.750 0.450
600 AR PR (5 4) | m3 0.600X0.290-0.006 0.168
ﬁff \ ﬁi‘a SR s+ m3 [0.600%0.360 0.216
: %'Jf MI‘M’”) HE AT M-30 t=1lcm | m2 0.600
- mEERY -t s ASEREET. (N )) t=3cm {EHZE | m2 0.600
B BE s z ASHERALER m3 [0.600%0.04 0.024
o Py 1 m3 (#4252, 0.9 0.210
s 675
600

3 ¢ THWTHEIFE:0.090°2 X 3.14+4=0.006

TWnEc1



BAMRWEZRD - T W om T ff AR~k BN G -V 1m0 ik
+ T WiiE 3 LR I T ASHi 15emEL T | m 2.000
TiE BE WY H=1.0 ¢75 | MEBIUEL-BGAT | &%/Z10cmELT | m2 ]0.600X1.000 0.600
R AR m3 0.600 X 1.250 0.750
800 ERR LR i (BREA) | m3 [0.600X0.290-0.006 0.168
. ’Fff | " R s+ m3 [0.600 X 0.860 0.516
: gjf kil L HiE BT M-30 t=1lcm | m2 0.600
ASE%E T (A D) t=3cm &% | m2 0.600
_ met - ASHRALER m3 |0.600X0.04 0.024
i I J6/E R +#h m3 [#EH— R 0.9 0.177
ERERY— b
[ eme )
=
600
3 ¢ THWFIAIFE:0.090°2X3.14+40.006
BRARMEL S - T W omE T f& TEIR T LA LR -V LD ik
AWK+ TWrmE 1 R R DI L ASHRC 15emEAF | m [1.970X2+1.200 X2 6.340
3 B5E RIS ¢ 100X ¢ 75 H=0.6| MEMURL -BOAT | HE2Z10emEL T | m2 |1.2000.870+0.600 X1.000 1.644
R m3 |1.644%0.980 1.611
1970 (=g S:iiye 1R (BEEA) | m3 [1.644X0.320-0.013 X 1.200 0.510
‘ : BRI A4+ m3 |1.644%(0.200+0.360) 0.921
L s o AR T M-30 t=1lcm | m2 1.644
. ASEIZET. (A1) t=3cm {ifizE [ m2 1.644
w50 ol 100 oo - ASTBRALPE m3 [1.644%0.04 0.066
- P FALE +# m3 [#RH]—HR,70.9 0.588
% (A1E1R)
.. - S ;, SRR - AOA T | SEE10ecmBL T [ m2 |1.200X0.870+0.600 X 1.000 1.644
| L T o g ASHRALER m3 |1.644%0.03 0.049
- e » g sl m3 |1.6440.01 0.016
B e ot wy Ui THb m3 [#EH 0.016
REEHEIE M2l m2 1.644
EEE AHE ASERZET. (A J)) t=4cm m2 1.644
ASBETHE MNELRHE
?l‘?r‘y BRI (I-30) BB (4-30) A\g‘%][ ?l
3 ¢ LOOMTIAI A% :0.130°2 X 3.1440.013

TWnEc1



BAMRWEZRD - T W om T #E TSR~ 1% LA G -V VT4 Bt
AW+ TWriE2 LR I T ASHR 15emEAF [ m [1.940X2+1.200 X2 6.280
il HOE RS ¢ 75X ¢ 75 H=0.6 | MSHBUREL -HHAT | SRZ10emELT | m2 [1.200X0.840+0.600x 1.000 1.608
R AR m3 |1.644%0.950 1.562
1940 BHIR 1R (FREA) | m3 [1.644<0.290-0.006 X 1.200 0.470
\ g B R RBE+ m3 |1.644%(0.200+0.360) 0.921
L2 F@EE® s AR T M-30 t=1lecm | m2 1.608
: ASE%E T (A D) t=3cm &% | m2 1.608
ASHRALER m3 |1.608X0.04 0.064
-n FEA LB T m3 |[EHI—HR, 0.9 0.539
T (RHEIR)
g ; K:H ; SR EUEL - BHA T | B 10cmEl T | m2 [1.200X0.840+0.600 X 1.000 1.608
) i = e g ) ASERALIR m3 |1.608%0.03 0.048
) o b : B A m3 |1.608%0.01 0.016
F84 - ALER 1w m3 [HEH 0.016
s IE 720 m2 1.608
"#EEB A%\

mm?ﬁﬂm ASEIZET. (A1) t=4cm m2 1.608

§| ET*‘Y B#ET (N-30) BET(N-30) A‘ggt §I

¥ ¢ T5WTHIFE:0.090 2 X3.14+40.006

BRARMEL S - T W omE T f& TER~HE LA LR -V LD ik
AWK+ T W3 LLESI)| LN ASHR 15emEA T | m |1.200 X4 4.800
T B R S8R ¢ 75 H=1.0| ASSHURERL -BUA T | Ei3/Z10cmEL T | m2 |1.200X1.200 1.440
1200 R m3 [1.440 X 1.200-0.006 X 1.200 1.721
BRI A4+ m3 |1.440 X 1.110-0.006 X 1.2 1.591
z AR T M-30 t=1lcm | m2 4.800
2 i ] ASERET. (A ) t=3cm {74 | m2 4.800
E = ASERILEY m3 |1.608x0.04 0.064
A b m3 |#EHI—HERE 0.9 -0.047
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RARE HERE

% M m\
A2 TERHE :\; Gt Fa KB BRI L
2 3 4 6 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28
(B )
#1537k (HPPEF) 50X ¢20 & 14.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
#1537k (HPPEA) 675X ¢ 20 & 14.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
FYxFL A KEM T EE 1 ¢20 m 14.0 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
HIVP ¢ 20 m 30.5 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.5 1.5 1.5 1.5 1.5 1.0 1.0 1.0 1.0
;E%ﬁ&:fﬁ;%ﬁf%f ¢ 20 1 56.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
HI-L (/LK) $ 20X 90° 1l 56.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
HI-S (¥4 h) ¢ 20 L] 56.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
g A a7 ¢ 20H & 56.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
AR I ke ¢ 20 R—1 1l 28.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
A AT (G kKA ) ¢ 20, v kT A5 & 28.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
TS-C (v v ) ¢ 20 1 28.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
(bR
AR 72 (53 ) H=600/H 1 28.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
g RRY—h TN BT W m 33.6 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
Ciz 19
PRy KAREEA T Y FL A 50mm X 20mm AT 14.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
PRy KAREEA T YV T5mm X 20mm & 14.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
FYTFL AR L ¢ 20 m 14.0 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
e E AR L ¢ 20 m 30.5 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.5 1.5 1.5 1.5 1.5 1.0 1.0 1.0 1.0
FVFV AT 20mm 5] 28.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
BEE AL =V BT 20mm 5] 80.0 3.0 3.0 3.0 2.0 3.0 3.0 3.0 2.0 3.0 3.0 3.0 2.0 3.0 3.0 3.0 2.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0
FYTFL T T ¢ 20 5] 56.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
TSHER T ¢ 20 =] 252.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0
TR AL = VA ) ¢ 20 (BERR) =] 56.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
1R FE A T (PP ¢ 20 T 28.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
BT ) AR T ¢ 20/ [0 28.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
B Ry —h L m 33.6 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
e |ows |lens lews |[mex | ms | |mas L____Jﬁﬁﬁ L EE |
(+1)
T WA i il ASEE (1)) H=0.6 20| m 36.1 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.7 1.7 1.7 1.7 1.7 1.2 1.2 1.2 1.2

]ﬁﬁﬁ | |ows |mes |mes |ees |




fakE L TEHE

o B ]
et
3 TR~k o | Batat + T B EA
36.1m| m¥%Y | 36.1(m) | m34Y m¥%4Y
EHAE R O T ASKR 15cmPAF | m 72.0] 72.200 | 2.000| 72.200
LR BUEL - fHA T B 10cmEL T | m2 22.0]  21.660 | 0.600| 21.660
(gl m3 15.0] 14.945| 0.414| 14.945
IR R Rt (FEF) | m3 5.0 4.946 | 0.137|  4.946
IR R A m3 8.0 7.798 | 0.216]  7.798
FEAE T M-30 t=1llem [m2 22.0] 21.660 | 0.600| 21.660
ASEHEET.(ATD) t=3cm {EHZE |m2 22.0] 21.660 | 0.600| 21.660
ASTERALER m3 1.0  0.866 [ 0.024]  0.866
S Yach ny U +w m3 6.0 6.281| 0.174] 6.281
T 2 —I5IRALSY SRR AL IBACE 127 1[ m3 0.1 0.066|Vv=0.023x0.04x72.2[ PFLAEIZFF I
(A1EIH) m*4Y | 18.1(m)
I IRITUEL - FA L 2SR 10em L T [ m2 11.0] 10.860 | 0.600| 10.860
ASTERALER m3 0.3 0.326 | 0.018|  0.326
B AR m3 0.2 0.109 | 0.006/  0.109
B A AP R m3 0.2 0.109 | 0.006| 0.109
N m2 11.0] 10.860 | 0.600| 10.860
ASEEET. (A ) t=4cm m2 11.0[ 10.860 | 0.600| 10.860
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BABRWERL L W & T fE AR ~HE BT CE WV 1m0 ik

+ T WA SRR T ASHR 16emEAF [ m 2.000

il BEE ASAHLE () H=0.6 ¢ 20| MHEBIEEL-BHAT | #2/Z10emEL T | m2 |0.600X1.000 0.600

gl m3 [0.6000.690 0.414

_ §00 _ R R 1R (BZEA) | m3 [0.600%0.230-0.001 0.137

RS v 8 4L ¥+ m3 [0.600%0.360 0.216

?ri; § HET (4-30) % §: FE T M-30 t=1lem | m2 0.600

- = ASHEIZE T (A) t=3cm REH%E | m2 0.600

N o | E ASTRALER m3 [0.600%0.04 0.024

s 5 B 644 -0 i m3 [ — 5, 0.9 0.174

) - IR

SRR -FUA L | #EE10emPL T [ m2 [0.600%1.000 0.600

RUCETTH ASHEALER m3 [0.600X<0.03 0.018

It ST ] el m3 [0.600%0.01 0.006
2z PPENRD) AT HE

A LR T m3 |$EH 0.006

NEHEIE m2 0.600

ASEREET (A7) t=4cm m2 0.600

% ¢ 20MTIHi A% :0.03"2 X 3.14-4=0.001
RBARMEZRD - T Wrom T f# JEARHE HAL G -V 1m0 $ Bk
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| £ »150LLF | ¢200~300 | ¢ 400~600| ¢ 700~800
BERR A L

N 1000m~1500m| 500m~1000m |300m~500m 300mLL T
WIKBETHEANT LSS
BERR A LA LT

\ 500m~2000m
FKBENREDEA

%5 4 EKHBRTOLIH %Y

AR e 38 P A H O e /IMIEL S D,

% KPR (H) = /K eBR R (m) /1 B S0 EREEE (m)

%) ¢ 150LL T Cil/KRBR AL £ A3560m DA

KT H BERR A Lol L CHRA K B3 AR BE 1 548.3/500=1.097=1.10 H
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